8
t"‘#uugﬂ of Lubli®®"

3 |
3 _ | Y |
. § .
. ' . | | ) i ' o
il . | 1 L | .
! a _1:1" A
a & T !
e tm \
E o . R, : N
' _ :' il i !'. N - A
. ' . 3 + - I .
i : = i L Li . 1 ] 1t:_‘ - B . B : ;
; ¥ ; . .
l | ¥ ' i : oy I i - —
Aam soom® uage of LUPTT : - . —
ol 1 Jp— " § e . ' ] . . & o = j
i - s P . - 4 i | ] k . L .
SE . 3 . "-i g | 1 .
. L & i | : I\ J
_xf : - Lo - |
g . ; .-‘-- g g = T
- — - : 1 '_,_-.T'- = o |!‘ . ' 1..-“ L . ___n | o .- =I — : ’: - '-I
- . o : i | 3 N _ R e, ] .
| " 1 . [ 3 . & i :
I 5 ’ =
= | . i

MARREEMMEE, BRERTIRERAFw i
SAVIHI7ZIR7IE, RETIRESRE -
B> TI R EHIRE, REMIE
e LHFREAXFEE, BDERE
(3]

WL ELR2HE" AEXE !




N-SFET1 / POl / HI

N-SC-SFT / HT

R EEIEER AL ST, SRR R
(IMIHEER K 2. 55F)
B PLI £4 B AR B (RS RS B BT i FR L K )

NI &EN. SN, IFRXEB. BEEF
B 2 ESE IR E ERE NI,

N-SC-SFTIRHEL i

N-SC-HTEE2# HI R,
STEERN , SREEN AP RE mazmsR)
High Vanadium HSS =S4 771.5P High Vanadium HSS B /\P(composite multi-layered) coating
T EHE R ST EEN. J][I I$j$4 : ﬁﬁ%i %ﬁ@ﬁ Eugi%ﬁ Eu %EI _% ﬁ% T EERE SN EERN, fihis. mAvE. MM
FS  xm EDP A= EDP M o EDP 1.5PHIHE
1 301100 M2*0.4 | 301111 | No.2-56UNC -
2 301101  M2.5%0.45 56.2 2 301112 No.3-48UNC : Weldy el £k 3/ 5
3 301102 M3*0.5 53.5 3 301113 " No.4-40UNC 7, 302101 M2.5%0.45 75 2 97 8
4 301103 M4+0.7 50.8 4 301114 No.5-40UNC _ - -
5 | N.poT | 301104 M5*0.8 53.1 : 301115 No.6-32UNC . ARl MRS 39 i
6  Scikst | 301105 M6*1 56.0 6 301116 No.8-32UNC 4 302103 M4*0.7 68.2 88.7
7 301106  M8*1.25 75.5 7 301117 No.10-24UNC  74.1 _ -
8 301107  M10*1.5 102.7 3 301118 No0.12-24UNC  77.7 > N-5C-5FT ER . S st
_ N-POT o . ' BENELL T -
9 301108  M12*1.75 137.8 9 | ygasesy 301119 | 1/4-20UNC  77.7 6 302105 M6*1 5 97.7
10 301109 M14*2 219.6 10 s4 301120 5/16-18UNC  114.4 . — —— — —
11 301110 M16%2 250.0 11 301121  3/8-16UNC  164.7
12 302100  M2*0.4 57.9 12 301122 7/16-14UNC  200.5 8 302107 M10*1.5 135.7 176.4
13 302101  M2.5*0.45 = 57.9 13 301123 1/2-13UNC 2237 ] 2105108 e e » 540 8
14 302102 M3*0.5 55.1 14 301124 9/16-12UNC = 282.8
15 302103 M4*0.7 52.5 15 301125 = 5/8-11UNC  366.9 10 302109 M14*2 297.2 386.3
16 N-SFT 302104  M5%0.8 54.8 16 301126  3/4-10UNC  687.3 - — — — —
17 BREZE | 302105 M6*1 57.8 17 301127 = 7/8-9UNC  921.8
18 302106  M8*1.25 78.5 18 301128 1-8UNC 1172.4 L 303100 M3*0.5 66.2 86.0
19 302107  M10*1.5 104.4 19 302111  No.2-56UNC  132.8 13 2103101 MA+0 7 65§ -
20 302108  M12*1.75 142.5 20 302112 No.3-48UNC  132.8
21 302109 M14*2 228.6 21 302113  No.4-40UNC  78.5 14 305102 M>70.8 65.7 83.5
22 302110 M1le*2 250.0 22 302114 No.5-40UNC 18.5 15 303103 ME*1 0 69 3 90 1
23 303100 M3*0.5 50.9 23 302115  No.6-32UNC 785 N T oa10n et e - e
24 303101 M4+0.7 48.4 24 302116 No.8-32UNC  78.5 B 44k - ' ‘ :
23 303102 M5*%0.8 50.6 25 302117 No.10-24UNC  78.5 17 303105 M10*1 5 121 1 157 5
26 . 303103 M6*L0 53.3 26 @QE;;F% 302118 No.12-24UNC 823 i r010F 19 g ok s
27 s 303104 M8*1.25 71.9 27 | 4| 302119 | 1/4-20UNC  82.3 ' : s |
28 303105  M10*1.5 93.2 28 302120 5/16-18UNC  121.2 19 303107 M14%2.0 271.2 352.6
29 303106  M12*1.75 131.3 29 302121 @ 3/8-16UNC  174.6 _ _ ) _
_ _ S Wi ek 20 303108 M16*2.0 325.0 4225
30 303107  M14*2.0 208.6 30 302122 7/16-14UNC 2125
31 303108  M16*2.0 250.0 31 302123  1/2-13UNC  237.2
32 302124 9/16-12UNC  299.8
33 302125 5/8-11UNC  388.9
34 302126  3/4-10UNC  728.6
35 302127 = 7/8-9UNC  977.1
36 302128 1-8UNC  1242.7

45 ~55150 -60
| HRC | HRC

C | aop |25 ~45[45 ~55[50 60| o o |
~045%p.45% ~| S°M | Hrc | HRC | HRC | SUS |




N-PL-SFT/POT/HT N2 >

N-HE-SFI/POI/HI

N-PL-SFTIEjELLHE IR
AI7EEE. BN, RIS

E#HiTEEINL

N-PL-POTSie 225
N-HE-HTE 2

ERTEmKN. TEIN. $
RHRC20-45°47/K

2SN PLiRE

High Vanadium HSS PL coating

ﬂ SRR
Taifr e ST EIE . HEEE. IESHNE. 5T ZHNTE.

High Vanadium HSS
TIEMIEHER S EIERN,

EAME IBaE. BN REIN.
axil. HEFaEF

HERE
HE coating
- FHRE 1300°CE |, EERFEIERE.

10
11

O B N e LA W N =

I &
13

14

15
16

17

18
19
20
21

22
23

24
2
26
27
28
29
30

31

N-PL-POT
Foimee s

N-PL-SFT
PR NE 22 HE

N-PL-HT
=R feds::

304100
304101
304102

M2+0.4
M2.5*0.45
M3*0.5

19.6
716.7

304103
304104
304105
304106

M4*0.7
M5*0.8
M6*1
M8*1.25

76.1
78.5
85.9
111.7

304107
304108
304109
304110

M10*1.5
M12*1.75
M14*2
M16*2

140.4
193.1
286.5

332.1

305100

305101
305102
305103
305104

M2*0.4
M2.5%0.45
M3*0.5
M4*0.7
M5*0.8

81.3
81.3
78.4
717.8

T

I 1
2
3
4
5
:
/
8
9

80.2

305105

Mb6*1

87.8

e R S
o v P w R

305106
305107
305108
305109

M8*1.25
M10*1.5
M12*1.75
M14*2

114.9
142.0
198.1
295.8

305110
306100

M16*2
M3*0.5

/1.0

306101
306102

306103

306104
306105
306106
306107

M4*0.7
M5*0.8
M6*1.0
ME8*1.25
M10*1.5
M12*1.75
M14*%2.0

68.4
713.2
79.9

s
~J

NN =
el = T Ve T+ =

oA
W N

104.2
126.7
180.6
275.7

306108

M16*2.0

323.7

W NN NN NN
© W <N o n A

L
ot

N-HE-POT
Foim L i

N-HE-SFT

N-HE-HT

307100
307101
307102

M2*0.4

M2.5%0.45

M3*0.5

65.3
65.3
62.4

307103
307104
307105
307106

M4*0.7
M5*0.8
M6*1
M8*1.25

64.2
68.9
71.9
96.7

307107
307108

307109

307110

M10*1.5
M12*1.75
M14*2
M16*2

124.5
170.6
260.2
296.4

308100
308101
308102
308103
308104

308105

M2*0.4
M2.5%0.45
M3*0.5
M4*0.7
M5*0.8

308106
308107
308108
308109

M6*1

67.0
67.0
64.1
63.3

M8*1.25
M10*1.5

M12*1.75

M14*2

£3.8

308110
309100

M16*2
M3*0.5

99.9
126.1
R B g i
269.6

309101
309102
309103
309104

309105

309106
309107

M4*0.7
M5*0.8
M6*1.0
M8*1.25
M10*1.5
M12*1.75
M14#2.0

296.4

59.8

—:'?::

61.7
66.2
69.1
93.0
119.7
163.8
248.8

309108

M16%2.0

296.4




N-AP-SFT/POT/HT

N-AP-SFTEpEze5E

FREELS

N-AP-POT5cim 223

2 EIEN

High Vanadium HSS
T EBE R B S e,

EAEET . TTREESENLELER
BEEERAXNKEETEABRES

AP iRE (gazERE)
High Vanadium HSS AP(composite multi-layered) coating

TIeMT R E R S TSN, - fAess. mHAtE. M-

HSSE

1
2z
3
4
5
b
Ji
8
9

10
11
12
13
14
15
16
17
18
19
20
]
22
23
24
2
26
27
28
29
30
C 3 )

FS

N-AP-POT
e

N-AP-SFT
0 44

N-AP-HT
B

EDP
310100
310101
310102
310103
310104
310105
310106
310107
310108
310109
310110

311100
311101
311102
311103
311104
311105
311106
311107
311108
311109
311110
312100
312101
312102
312103
312104
312105
312106
312107
312108

M2*0.4
M2.5%0.45
M3*0.5
M4*0.7
M5*0.8
M6*1
M8*1.25
M10*1.5
MIZ*1. 73
M14*2
M16*2
M2*0.4
M2.5%0.45
M3*0.5
M4*0.7
M5*0.8
M6*1
M8*1.25
M10*1.5
M12*1.75
M14*2
M16*2
M3*0.5
M4*0.7
M5*0.8
M6*1.0
M8*1.25
M10*1.5
M12*1.75
M14*%2.0
M16*2.0

n g Sp—
B . i = b i
¥ J T 1 o -
| - s . ' =
] in = : i
B i | BN | -
2 = - 7 | d . ¥ . .

r-. : B . R .' 1 lazm . = T t
K Y L i B | ™ ‘_ e |
' - i1 | R NL, F RS- . |
| . o T o T L K - n ﬂl -:-5 ol B Ej
] '1'1 ? w1 gl S — ; 3 : ? . - gt = ch
e | T rFh Ky 3 - L s
1" .
| . . I =
|= i )

Nicke | Thermo. | Thermo

45 ~55|50 -60
| HRC | HRC

HRC

SUS

Sk

ol

R e

lcozss| ¢ |

=0.45%10.45% -

SCM

NHT

FH2zH
(352—F )

HRC | HRC

25 ~45|45 -55|50 ~60
HRC |

als

=14

EDP
313100
313101
313102
313103
313104
313105
313106
313107
313108
313109
313110
313111
313112
313113
313114
313115
313116
313117
313118
313119
313120
313121
313122
313123
313124
313125
313126
313127

M1.0%0.25
M1.2%0.25
M1.4*0.3
M1.6%0.35
M1.8+0.35
M2+0.4
M2.2+0.45
M2.3%0.45
M2.5%0.45
M2.6%0.45
M3*0.5
M3.5*0.6
M4*0.7
M4.5%0.75
M5*0.8
M5.5*0.9
M6*1.0
M7+1.0
M8*1.25
M10*1.5
M11%1.5
M12*1.75
M14%2.0
M15+2.0
M16%2.0
M18+2.5
M20%2.5
M22+2.5

214.8
214.8
214.8
214.8
204.1
204.1
204.1
204.1
204.1
119.2
119.2
119.2
119.2
119.2
131.6
131.6
149.3
149.3
203.0

298.6
298.6
Af3. 2
411.9
411.9
525.2
611.6
862.4




N-LT-POT /SFI

NEIN

N-NRTHf E223E

N-LT-POTICURZLHE ——m

Fion Janacm HS m AL e B RN LSBT  PAEER G AP SR mesEm
v 4 &~k Bt '9n vanadium 7= = ERIRINBETERCE | JJRFH M Powder Metallurgy HSS (¢ Bl /Plcomposite multi-layered) coating
T RIIRIEIR B XA I R AR, TEFHERSTURIES. DU, TR, T fﬁgﬁg% =8 CPM TIEBAHHER RN (CPM), UGS, VL, RS,

B8 EDP M &  BENCERE) ENAPRE) EDP M ENCCRE) BNAPRE) 18 2P-EDP 4P-EDP @ f/1(RMB)
1 315100  M3*0.5*150 = 406.4 508.0 315118  M3*0.5*100  284.5 = 355.6 ! M1%0.25-RH4 317100 317128 81 73
1 *( T*1LC e A 3161 1¢ A*0) T*° 0A C ICE A
2 315101  M4*0.7*150  406.4  508.0 315119  M4*0.7*100  284.5  355.6 3 e i P T
3 315102  M5*0.8*150 = 325.8  407.2 315120  M5*0.8*100  228.0 = 285.0 P _ _
- _ _ _ 3 M1.4*0.3-RH4 317102 317130 74.02
4 315103  M6*1.0*150 3258  407.2 315121  M6*1.0*100  228.0  285.0
) 315104 M8*1.25*150  366.5  458.1 315122 M8*125100  256.5 = 320.7 ! M SR Bra IS b i
6 315105 M10*1.5*150  391.7  489.6 315123 MI10*15*100  274.2 3427 ) M1.7%0.35-Rh4 217104 _ 317132 74.0¢
7 315106 M10*1.25*150  415.0  518.7 315124 MI10*1.25*100 290.5 = 363.1 6 M1.8*0.35-RH4 317105 317133 70.94
8 N-LT-pOT 2315107 M12*1.75*150 _ 537.1 671.4 315125 M12*1.75*100 376.0 470.0 7 M2*0 4-RHA4 317106 317134 70 94
9 | sk 315108 M12*1.5*150 537.1 671.4 315126 MI12*1.5*100  376.0 = 470.0 g M2 3%0 4-RHA4 117107 217135 64 77
_ | AT %] DRI | ) __ - 11 k] IC* | $ ,_
10 4 315109 M12*1.25%150 568.2  710.2 315127 MI12*1.25*100 397.7  497.1 g B R T —— & 59
11 315110 M14*2.0*150 6554  819.3 315128 MI14*2.0*100  458.8 = 573.5 % TP T s P T
12 315111  M14*1.5*150  694.2  867.7 315129 MI4*15*100 4859  607.4 .. —— — — .
13 315112  M16*2.0*150 7524  940.5 315130 MI16*20*100  526.7 = 658.3 B . s 5 : ALE LN , e , 4.4
14 315113  M16.1.5*150 7524  940.5 315131 M1615*100  526.7  658.3 17 - M3.570.6-RH4 517111 _ 317139 92.30
15 315114  M18*2.5*150  837.7  1047.1 = 315132 M18*2.5*100 5864 = 733.0 13 M4*0.7-RH6 317112 317140 102.80
16 315115 M18*1.5*150  837.7  1047.1 315133 M18*1.5*100 5864  733.0 14 M5*0.8-RH6 317113 317141 123.36
17 315116  M20*2.5*150 9424  1178.0 = 315134 M20*25*100  659.7 = 824.6 | 15 ME*1-RH7 317114 ' 317142 143 91
| I1E117 *71 C*7 | | _ *1 G* | 294 i | | | " |
18 315117  M20*1.5*150 9424  1178.0 315135 M20*1.5*100  659.7  824.6 iE e D A i A P
19 314100  M3*0.5*150 ~ 430.8  538.5 = 314118  M3*0.5*100  301.6 = 377.0 Ta— e e - e - g
20 314101  M4*0.7*150  430.8 538.5 314119  M4*0.7*100  301.6  377.0 : —— e —
21 314102 = M5*0.8*150 3453  431.6 314120  M5*0.8*100 2417 | 3021 i il il oo il i
22 314103  M6*1.0*150 345.3 431.6 314121  M6*1.0*100 241.7 302.1 19 - MI1071.25-RH7 _ 317118 { 317146 | 280.64
23 314104 M8*1.25*150  388.5  485.6 314122 M8*1.25*100 2719 = 3399 20 M10*1-RH7 317119 317147 280.64
24 314105 M10*1.5*150 415.2 519.0 314123 M10*1.5*100 . 290.6 363.3 | 21 M12*1 75-RHE& 2317120 317148 3728 9§
25 314106 M10*1.25*150 4399  549.8 314124 M10*1.25*100 307.9 = 384.9 55 M19%1 E-RH7 117191 217149 24€ 41
_ 107 *1 FL*L 69 111 .7 _ ,- 112*1 75*10 308 = _ =
26 . T.cpT 314107 MI12*175*150 569.4  711.7 314125 MI12*1.75*100 398.5 = 498.2 29 ——— 217193 217150 24E 21
27 | smiesnie | 314108 M12*15%150  569.4 7117 314126 MI12*15*100 3985 = 498.2 e p— = s n ey - 2
28 40 44t 314109 M12*1.25*150  602.2 752.8 314127 MI12*1.25*100 421.6 527.0 _ e — B N = o
29 314110 M14*20%150 6947  868.4 314128 M14*20*100 4863 | 607.9 9 e il AIEAEN i, e
30 314111 M14*15*150 7358  919.8 314129 MI14*15*100 5151 6439 26 MF1471.5-RR3 317125 317153 481.62
31 314112 M16*2.0*150  797.5 = 996.9 314130 M16*2.0100  558.3 = 697.8 27 M16*2-RH10 317126 317154 630.38
32 314113 M16.15*150  797.5  996.9 314131 M16.1.5*100  558.3 = 697.8 28 MF16*1.5-RH9 317127 317155 661.90
33 314114 M18*2.5*150  887.9  1109.9 314132 M18*25*100  621.6 = 777.0 '
34 314115 M18*1.5*150  887.9 11099 314133 M18*1.5*100 621.6  777.0
35 314116  M20*2.5*150 9989 = 12487 314134 M20*2.5*100  699.3 = 874.1
36 314117 M20*1.5*150  998.9  1248.7 314135 M20*15*100  699.3  874.1
= | e AW |6 IRE 59
Low | Medium | High Hardened Steek  |Stainkes | Tool | Cad
- 0.25% Z0.45%0.45% ~| SM |“HRe 4&555 %ﬁgﬂ ,335% E?;.'iﬁ SCM E?,gﬂdf.ggﬁ Eﬂpﬁ sUs | SKD | st

g — 10 —




N-LT-NRT

N-LT-NRTHIFE [ E 445

BizS

Fravious Symbol

PT

" BIREIRN AP RE mazEsR) . . —
 Powder Metallurgy HSS (CPM) m APlcomposite mul-ayered) coating Bi2S #izS

o Previous Symbol | New Symbol
TeisA v R A EiEE (CPM), ffats. mHAE. M. —ftE < BT AR AT PF G

Farallel pipe threads for mechanical joints

R IR BN SR T R
ERLRINEFGEREE | JJBEFR
GIeRsN:NES T

F = IBicS
Type Fravious Symbaol

EHRTTAER

Farallel pipe threads for pressure-tight joints

High Vanadium HSS
TEBHEHER ST EIEN.

1 M2*0.4-RH4 318100 106.4 318122 212.8

2 M2.3%0.4-RH4 318101 97.2 318123 194.3

3 M2.5*0.45-RH4 318102 97.2 318124 194 .3

4 M2.6%0.45-RH4 318103 97.2 318125 194.3

5 M3*0.5-RH5 318104 123.4 318126 246.7 N EDP

| 328116 1/8-27 328108 87 113
1/8-28 328101 | 328117 | 1/4-18 328109 128 166
1/4-19 | 328102 | 328118 114 | 149 | 3/8-18 328110 213 | 277
3/8-19 328103 213 277 328119 192 250  1/2-14 328111 275 358

9 M6*1-RH7 318108 215.9 318130 431.7 1/2-14 | 328104 @ 275 = 358 | 328120 248 323  3/4-14 328112 376 489
10 M8*1.25-RH7 s1at08 | 300 4 ' syevar | e ' 3/4-14 328105 376 489 328121 337 439 11112 328113 632 822
1-11 | 328106 @ 632 822 | 328122 568 739 11/4-111/2 328114 1891 2458
" ' ' ' i11;2-111,.r2f 328115 2864 3723

6 M3.5%0.6-RH4 318105 138.5 318127 276.9 - 1/16-28 | 328100

7 M4*0.7-RH6 318106 154.2 318128 308.4

3 M5*0.8-RH6 318107 185.0 318129 370.1

11 MB*1-RH7/ 318110 323.8 318132 647.6

12 M10*1.5-RH/ 318111 400.9 318133 301.8

EEAIES

High Vanadium HSS
T ERE A F 2 s i,

13 M10*1.25-RH7 318112 421.0 318134 841.9

14 M10*1-RH/ 318113 421.0 3186135 841.9

15 M12*1.75-RH8 318114 493 .4 318136 986.9

Fa Display helix angle of flute for drills and taps.

ERTE. REZEFEFINENINL
16 M12*1.5-RH7 318115 518.1 318137 1036.2

( EIRS-ERNEE )
N-SPS N-SNPT
Rp (PS) NPT

EDP  ZREEN BREEH Mg EDP  EREEM

329107 113 1/16-27 329114 '

1/8-28 329101 329108 128 166  1/8-27 329115

1/4-19 329102 329109 213 277  1/4-18 329116 693 901

22 MF16*1.5-RH9 318121 992.9 318143 1985.7 3/8-19 329103 229 297 329110 275 358  3/8-18 329117 895 1163
1/2-14 | 329104 | 297 | 386 | 329111 | 376 489  1/2-14 329118 1223 1589
3/4-14 329105 405 527 329112 632 822  3/4-14 329119 2054 2671
1-11 | 329106 683 887 329113 1891 2458 1-111/2 329120 6144 7988

17 M12*1.25-RH7 318116 518.1 318138 1036.2
18 M12*1-RH7/ 318117 518.1 318139 1036.2

19 M14*2-RH10 318118 688.0 318140 1376.1 AR EDP 3
_ " ' 1/16-28 329100

20 MF14*1.5-RH9 318119 722.4 318141 1444 .9

21 M16*2-RH10 318120 945.6 318142 1891.1

| ._ i;r‘.: , (¥ I. bl
Bronze |Alminum [Aumium |Magresam | Zinc  |Titanium | Nickd | Ther

AL |AGADC [ MC | ZDC |

R | P | AR |aow

L N

c lco2swm| © |25 ~45|45. -55|50 ~60

- 0.25%|~ 0.45%]0.45% ~| ““™ | HRC | HRC | HRC

SUs | SKD

B o - - m— o i ]
.‘- o8 = L L. — z

] Il e Ll Tl = s _

= ® e o W ol = 3

—p ] — N J—




N-OT-NRT

~wermeeeeewm AT EEHR. BN EY. AECERIEETE N-OT-NRTH E2245

w4, INLRES , EaAftEINT.
e E AP RE (2asBiRR)
ARBIDE Tungsten Carbide AP(composite multi-layered) coating
el T EEEERSS. FikbiE, v, MEEMELT.

L ot M TE TS S /5 (M 2= eSS - h AP = (EE2ZERE)
ASHHIEBHROFHGT , SELES nnnmuE B i Pt et

] - TREEN REAERN EP EDP  FEEREERN FEEN BaEReE |, JEEmENSR - T -
_MD 3 319100 | 161 | 173 | 320100 | _1?9 _ 191 321100 @ 187 | 200 o TS RS U, L. MRS
M09 319101 148 161 320101 164 176 | 321101 = 173 187 e _ O S
M1 319102 @ 117 | 142 | 320102 @ 130 | 142 | 321102 @ 136 149 | M 18 EDP  ETREEHN  REEN EDP R=EE
M1.2 319103 111 136 320103 124 136 | 321103 132 143 . S . i . -
| | . | : S 1 | MO.8 322100 185 198 0-80 322126 148 161
M1.4 | 319104 = 111 | 124 | 320104 | 124 | 136 | 321104 | 132 | 143 |
M1.6 319105 108 120 320105 120 133 | 321105 126 139 MO.9 322101 170 182 1-64 322127 148 161
M2 | 319106 108 | 120 | 320106 = 120 | 133 321106 | 126 | 139 | _ = _
M2.5 = 319107 108 120 320107 120 133 321107 = 126 143 M1 322102 130 142 2-56 322128 148 161
M3 319108 108 124 320108 120 136 321108 126 143 __ _ _ : _ . _ ==
M3.5 | 319109 = 117 | 133 | 320109 @ 130 | 145 | 321109 A 136 153 L4 222103 |  t24 | 136 S8 | Sesked | daR | AR
M4 319110 117 136 320110 130 148 321110 136 156 G A _
Gin S P51 0L Y (R — Lt st NN i M1.4 322104 124 136 4-40 322130 130 142
M5 319111 161 | 182 | 320111 @ 179 | 201 | 321111 = 187 211 , . . .
M6 = 319112 @ 201 | 232 | 320112 @ 222 | 250 | 321112 | 231 | 262 M1.6 322105 120 133 5-40 322131 130 142
M7 319113 355 | 392 | 320113 @ 395 = 432 | 321113 = 425 = 465 . o _ _
M8 319114 | 355 | 392 | 320114 | 395 | 432 | 321114 | 408 | 448 M2 322106 120 133 6-32 322132 1538 164
M9 319115 417 463 320115 463 509 321115 = 492 543 ; ) | } _
M10 | 319116 | 417 | 463 | 320116 463 | 509 321116 492 543 ek Bt B R s WO I o I (O s
M12 319117 540 596 320117 602 658 = 321117 628 696 ” | - _
| | | | | | | M3 322108 120 139 10-24 322134 179 195
M14 | 319118 | 726 | 787 | 320118 | 797 | 858 | 321118 @ 842 | 910 _ | _ _
M16 319119 1112 = 1189 320119 @ 1220 @ 1297 | 321119 1274 | 1359 M3.5 322109 130 145 12-24 322135 210 232
M18 | 319120 1389 = 1497 | 320120 @ 1513 | 1621 | 321120 @ 1596 | 1715 _
M20 = 319121 1698 = 1822 | 320121 @ 1883 | 2007 @ 321121 1970 = 2106 M4 322110 130 148 1/8"-40 322136 148 164
M22 | 319122 @ 2161 | 2316 | 320122 | 2408 | 2547 | 321122 @ 2547 | 2700 _ _ _ | — R———— "
M24 319123 = 2748 | 2933 | 320123 = 3057 | 3242 | 321123 = 3226 3396 M 322111 179 201 i07-24 | 322137 £ 43 <01
M27 319124 3890 4168 320124 4292 4539 321124 4517 4789 s . . - . .
| 1. S | | , | | - | | M6 322112 222 250 1/4"-20 322138 275 309
M30 319125 4878 5187 | 320125 = 5403 5712 | 321125 5706 @ 6011 | /
. -- M7 322113 395 432 5/16"-18 322139 417 448
HUAG EDP LmEEN  REEfT EDP EDP  7EEEL  REED M8 322114 395 432 3/8"-16 322140 469 525
0-80 319126 139 151 320126 321126 @ 163 | 177 .
1-64 319127 139 151 320127 321127 163 177 0 M9 322115 463 509 7/16"-14 322141 571 618
2-56 319128 139 151 320128 321128 163 177 _ — _
3-48 319129 124 139 320129 321129 143 156 M10 322116 463 509 1/2°-15 322142 723 187
4-40 319130 | 124 139 | 320130 321130 143 | 156 = ‘ N | = = = T
5-40 319131 124 139 320131 321131 143 156 M12 322117 602 u 658 9/16°-12 322143 1037 1127
6-32 -~ 319132 139 | 154 | 320132 221137 | 1691 | 180 | M14 272118 797 2cQ E/R*-11 322144 1167 1317
8-32 319133 154 170 320133 321133 180 197
10-24 = 319134 170 185 | 320134 321134 197 = 214 M16 322119 1220 1297 3/4"-10 322145 1775 1899
12-24 319135 201 222 320135 321135 231 255 _ _ | -
1/8"-40 319136 139 154 320136 321136 162 _ 180 _ M18 322120 1513 1621 71/8"-9 322146 2516 2594
3/16"-24 319137 170 201 320137 321137 197 221 _ _ | _ == ' _ _
3/8"-16 = 319140 448 494 | 320140 321140 516 | 577 ' .
7/16"-14 319141 540 593 320141 321141 628 679 M24 322123 3057 3242
1/2"-13 = 319142 @ 695 756 320142 321142 802 = 866 . — |
9/16"-12 319143 988 1081 320143 321143 1141 1240 M2/ 322124 4292 4539
5/8"-11 = 319144 1112 1204 320144 321144 1284 1443 _ —— |
3/4"-10 319145 1698 1822 320145 321145 1953 2089 it 322125 5403 5712
7/8"-9 | 319146 2393 2547 320146 321146 2768 | 2853
1"-8 319147 3890 4168 320147 321147 4500 4721
wa | B | B Eﬁﬂ V[R5 ﬂ%ﬂ Ve 5 mmmi& | ﬁﬂ“ﬁ#ﬂ#
Low |Medum | High | Alloy Hardened Steeb ledium | High | Aloy Hardened Steed Saines | Tool | Cat | Cast ronze (Ahuminum (Auminum (Magresum | Zinc  [Titanium | Nicke no | Tt
Carbon | Carbon | Steeb arbon | Carbon | Steek Steeb | Steek | Stesk | lron Rolled mm mw my
G |CL25%| G _. 25 ~45|45 ~55] 50 ~60 | . 2hY .. |25 ~45(45 ~55(50 ~60| |
-0.25%|~045%045% ~| > | HRC | HRC | HRC | > - 035%|~0 6% pAS% of S Ve | G| HRC. it Rasdll Bt Il el Il Bl Bl Bt I i Ml i

— ] S — — 1 g




N-OT-DRI1

N-OT-DRTESIN—1R 225

. TNl S
| m— S e :
e b Sl s S e 1ty i _ - BEeR IND AP RE (EazEs8) @ b e = TETTE Y HBEaS IR AP RE (2azE5E)
FoumlNES kAl T I ZZ/ R FLI0 L Tungsten Carbide AP AP(composite multi-layered) coating R BRI LA, '—ﬁﬁﬁ'ﬁﬂ’ﬂ%%&ﬁtﬂ r CARBIDE Tungsten Carbide P APlcomposite multi-layered) coating
e IN LRER, TS ERERS S, | NS T, T PRiEHEE |, (BL#EINMER K. DI | FURES. TPVME. THEREST.
MO. 8 323100 448 463 0-80 323126 448 494 MO.8 324100 185 201 0-80 324126 154 170
MO.9 323101 448 463 1-64 323127 448 494 MO.9 324101 185 201 1-64 324127 154 170
M1 323102 448 463 2-56 323128 448 494 M1 324102 148 170 2-56 324128 154 170
M1.2 323103 448 463 3-48 323129 303 324 M1.2 324103 148 170 3-48 324129 154 170
M1.4 323104 448 463 4-40 323130 303 324 M1.4 324104 148 170 4-4(0 324130 154 170
M1.6 323105 448 463 5-40 323131 303 324 M1.6 324105 148 170 5-40 324131 154 170
M 2 323106 303 324 6-37 3231327 324 355 M 2 324106 139 161 6-32 3241327 170 185
MZ2.5 323107 303 324 3-32 323133 386 417 MZ.5 324107 139 161 8-32 324133 201 222
M 3 323108 303 324 10-24 323134 417 448 W 3 324108 154 170 10-24 324134 237 262
M3.5 323109 324 340 12-24 323135 479 525 M3.5 324109 216 247 12-24 324135 303 R
M4 323110 324 340 1/8"-40 323136 324 355 M4 324110 170 201 1/8"-40 324136 237 278
M5 223111 386 401 3/16"-24 323137 386 437 M5 324111 216 253 3/16"-24 324137 303 333
M6 323112 417 448 1/47°-20 323138 479 525 M6 3224112 355 401 1/4"-20 324138 417 463
M/ 323113 571 611 5/16"-18 323139 571 b1l1 M/ 324113 463 509 5/16"-18 324139 494 540
M 8 323114 571 611 3/8"-16 323140 679 726 M8 324114 463 509 3/8"-16 324140 611 673
M9 323115 6/9 7126 71/16"-14 323141 988 1044 M9 324115 602 664 71/16"-14 324141 187 865
M10 323116 679 126 1/2"-13 323147 1173 1266 M10 324116 602 bb4 1/2"-13 324147 1112 1204
M12Z 323117 988 1044 9/16"-12 323143 1173 1266 M1lZ 324117 380 957 9/16"-12 324143 1389 1513
M14 323118 1173 1281 5/87-11 323144 1606 1698 M14 324118 1204 1297 5/8"-11 324144 1698 1853
M1l6 323119 1606 1698 3/4"-10 323145 2408 2532 M16 324119 1822 2007 3/4"-10 324145 2393 2640
M18 323120 2100 2223 71/8"-9 323146 3242 3427 M18 324120 2161 2408 1/8"-9 324146 3396 3643
MZ20 323121 2408 2532 1°-8 323147 5805 6113 M20 324121 2748 3057 1"-8 324147 5094 5403
MZ2 323127 3242 3427 M 22 324127 -
MZ4 323123 4076 4261 MZ24 324123 - -
MZ7 323124 5805 6113 M2/ 324124
M30 323125 71348 71657 M30 324125 - -

- 0.25%

~0.45% D 45% ~| °

- 0.25%

HRC

HRC

|25 ~45|45 ~55|50 ~60|
HRC |

— 16—




N-O1 -Pl / PSS/ PG

HIEE 1R

2 |BicS: #McS
Type Previous Symbol

S R R OT R
Taper pipe threads for pressure-tight joints
K |HicS #mcs
Type Previous Symbol Mew Symbaol
—AREE & ST PR oF G
Parallel pipe threads for mechanical joints
IBicS mcS
Type Previous Symbol New Symbol

S AT RE 5Q ' Rp

Parallel pipe threads for pressure-tight joints

e

CARBIDE

B — & _ L o R B o . o ;

Tun_gsten Carbide
TN EERERSE.

BIrER e EgPzzi ( 18N )

AP RE (5a2E5R)
AP(composite multi-layered) coating

RGeS, I

. BT

.

EDP

i EDP

1/16 325100 371 | 417 325108 371
1/8 ! 325101 463 | 509 325109 . 540
1/4 325102 126 803 325110 787
3/8 325103 1328 1420 325111 1389
1/2 325104 2100 2192 325112 2192
5/8 325105 2ix] 2825 325113 . 2779

3/4 325106 3890 4014 325114 3952

1 325107 5712 6021

325115 =7 3 0,

865

1482

2285

2871

988

6021

325116
325117
325118
325119
325120
325121

3253122

325123

371

463

126

1328

2100

2717

3890

3514

803

1420

2192

2825

4014

6021

N-OT-PNC:

SRR
SERIRNET)
SRR
S RIRNT)
SRR TR
S EIR0GRT]
SRR
SRR
SEIRNRT]
SRR
SRR
SERIRNTET]
SRR
S RIRNT)

N-OT-PNC

EDP
326100
326101
326102
326103
326104
326105
326106
326107
326108
326109
326110
326111
326112

326113

ANEET) ( =F /85 )

(AN LU =5ZEznt8e FBFE1Ea) , et TRIEINNL.
ANREHFEREE , BERTIN LARRNIRN., HE , ZRRs03e] 0L,

—
' EMEHERERSS.
b =3
M1.0%0.25*D4*50L 4
M1.2%0.25*D4*50L 4
M1.4%0.3*D4*50L 4
M1.6*0.35*D4*50L 4
MZ2.0%0.4*D4*50L 4
M3.0%0.5*D4*50L 4
M4.0%0.7*D4*50L 4
M5.0%0.8*D6*50L 6
M6.0*1.0*De*50L 6.0
M8.0%1.25*D8*60L 8.0
M10*1.5*D10*75L 10.0
M12*1.75*D10*75L 10.0
M14*2.0*D12*75L 12.0
M16*2.0*D14*80L 14.0

APlcomposite multi=laygrgﬂ:| coating

110.2

110.2

110.2
110.2
110.2
110.2
110.2
149.8
149.8
227.0
334.9
334.9
57/2.9

837.3

TRGES. MFAE. MR-

123.4
123.4
123.4
123.4
123.4
123.4
167.5

167.5

255.6

370.2
370.2
612.6

881.4

=0.25% | = 0.45%




N-OT-PNGT

N-OT-PNGTRELs%)] ( €F B2 )

(RN LR OR=3ZENEe FIARIFEED) , sedt TIRNIEINNL.

AR ZEEEREE

o2 IBNGRT]
a2 IRNGRT]
SR IENGRT]
SR IENGRT]
SR IBNGRT)
SRIRNR/]
a2 IBNGRT]
SR IBNGERT]
a2 IRNGET]

it L LA LR 2EEkh
2. trEmEPILE

EDP
327100
327101
327102
327103
327104
327105
327106
327107

327108

Al S AR 1

RERIFTII LA RREEN, HH , ERRoIe 0L,
" EiEeE

Tungsten Carbide

CARBIDE

M3.0%0.5*D4*50L

M4.0%0.7*D4*50L

M5.0%0.8*D6*50L

M6.0%1.0*D6*50L

M8.0*1.25*D8*60L

M10*1.5*D10*75L

M12*1.75*D10*75L

M14*2.0*D12*75L

M16%2.0*D14*80L

3. RN |, BB g ER. RBREEINNIER.

4. XAXWEZRITEFNFAIETRANTE  GmEsl 7 ]INILET]. BEIRSEREITMITEITRE.

B SEFE = 3EDN T e

TEB%( XHMEL) ok E#HS) =5) |
NODARIBHERT

BRI ERT]”

TR ERAEIIN T
A SE— R HHA 1 MBI S MR YeM 2L

= 7L

6.0

8.0

10.0

10.0

12.0

14.0

B

mm m s m " e

TEM I EERR RS .

AP iRE EasERR)
A Plcomposite multi-layered) coating

154.2

154.2

207.1

207.1

308.5

423.1

423.1

705.1

991.0

GEs. MME. BT .

167.5
167.5
224.8
224.8
334.9
458.3
458.3
/44 .8

1035.6

1. 2 BB ACER-CBIY F 18 & i 1 H .

2. ZENITE 4B A AR B M4 TIEE, B LRI HFw.
JifE g Them i Th L EMBERHESHEHR T, FRATR
3 Tilt T

3. Wit {4 Ak o] FHERB A E, 1EAMBFEL; BTN,
4, ERF, WREHE 2700 BB UL RIS LA 1 AR B B 4 35

5. ERIRF S ERTE 3 )9 7 W as

LS R .

BT30-ETP16-100 M3-M12 | 100 | 20 | 46

BT30-ETP20-100| M3-M16 | 2 46

'BT30-ETP25-100| M3-M22 | 100 | 20 46

BT30-ETP32-100| M3-M30 | 100 | 20 46

Hﬁxﬂﬁ BT40 -

BT40-ETP16-100 | M3-M12 | 100 | 25 | 63 | 28 | MI6 |
BT40-ETP20-100 M3—-M16 | 100 | 25 63 34 M16

'BT40-ETP25-100| M3-M22 | 100 | 2o 63 | 42 | MI6

| BT40-ETP32-100| M3-M30 | 100 | 25 | 63 | 50 | M16 |

Iﬂﬁ:xﬂﬁ BT5 0 _

BT50-ETP16-120 HS—H12 120 | 35 | 100 | 28 | M24 |

| BT50-ETP20-120 | M3-M16 | 120 | 35 | 100 | 34 | M24

BT50-ETP25-120| M3-M22 | 120 | 35 100 | 42 | M24

| BT5U—ETP32—120EM3—M30 120 | 35 | 100 | 50 | M24 |

104 | M2-M12(JIS)

25 ~43
HRC

145 5550 ~60
| HRC | HRC |

SUS

Sk Sl FL FCD

G

Bs

M3-M17 (JIS) |

M3-M22 (JIS)

M3-M27 (JIS)




R =ARSS

FL A X EFEBRNIERFE.

il ey BE FE S8

s BREUER  BEFEE , HnHRE

o N ERNFEFINERRA

* ZIXUMEIILS |, KUMSMHFEREILZ

o BOMHSFE N, SR AXEREII A

* BF5) , IRETLZIRER

* FNFE NSRS INERS , IRSHITRIAASIN
* REEES , NOE , 55708  REBE

ERPRERHEIDAEB. 2, TIWiEH
PVDMIIESHENR)FERS AR AEREBH
HEHENETILLAT , 28 BEMRFEH R
BRENRIZ , MERLHEE , AEFREH
MENEERERS  BEEFPHNZMNE
X, HEZBNERETUT/IENIER
AAR , RETZRIRBFREN , MNMIFRIE

mmiR. RARRSFHREE , HFAREXKF
EmAME RS,

s 60 5 D S UK 40 £ 55 R

R FH ST 12k
PVDiRERART ZMNATF ISk, R%E. AR, IR, BRETNE. s1hiRE. A€l
B ETsSEm. WEGREFNE. TR (7J8) fBE | tiEsEAEFWR3-10E , ok IE
WER3I0%LALE ; BEFER A XKIRERFEIERIRE , IRSREENRENE , RUEINTHEE , AMmiX
FiReEBEEREGHNEN. XASKFENIEEEEHE. BHE. MeENMEeE , AN
FYFIRE R,
OQUIEIJIR : BRETIERNNEMY. it | BExERSD ;
QPERER : BRPERZEREET=mZBNER] , AMBINERESW ;
QOREMRER  MiFE. Fil. EEF  FEGERFEER. BREEA , KD BERT , £F-F
B TR R ;
@ T REHEE | NERIERED | FEE
OITWMEHR . REE , BEIAFI3600HV, EEAFFEKZE0.LS5, sENEHEMEBRRIIMNE
{FRYE B R) R,

iR, ANETSNRERETRE  NTHRSEFH

TLM/TAP
ek ILM
wEoE DLC

tII Hl

TiN ,4
TiCN

IAP J
DLC

SRR

i B “f FCHE RE

Coating CHYO. 05)
2300

TiCN 2800

IHE 3600

PH 3400

ILM 3100
3300

CY 3800

DLC

TH?

0. 40

0. 25

0. 35

0. 30

0. 25

0. 39

0. 40

0. 05

m=ARSS

ILM/IAP

IHE/IAP  THE
ILM/IAP  IAP
ILM ILM
DLC DLC

b, BRES

2—4

2—4

3-5

2—4

ILM/TAP

TiCN/ILM

g
— . —

DLC

FFRYR

IAP/PH

THE/PH

| sroreen

v (B8

600

200

1100

1100

1000

1100

1100

300

=1 E=

TiN/TiCN

ILM

TiCN/ILM

TiN/TiCN

£ g )

[ g )

W K 8,

2K

Rt

IAP IAP
IAP IAP
IAP IAP

BRELR, $t7], 24
&,

P HELR, £2HETF

*F%%J]Ei JJH*%!
Al in T 55HRC #4 ¥, w
)

BR @8k, WILM
T, MR,
T R T V) R B

WHAaEMRIIA, &
FEJIFRInT.

R LT R AL
BiMITIR, MR, F
B, SRIMTIIAS

EMHTEEnT, #in
T4 HHE B> 60HRC

WA, SEMTIIA,
B,




